SuMPO

|EPD

VERIFIED

F1TNBRIEES
B$7&ES ¢ JR-AI-25459E

FUJIFILM

- .
.

SuMPO EPD
(EPD)

SUMPOERIESANINTOIS L
— AL EIE AT AT F IR E HEEE S
RREBTFABERAMET-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

FUJIHILM

Value from Innovation

BITAL EYRR A/R-YavkR At
FUJIFILM Business Innovation Corp.

A3 HS—EEH
A3 Color Multifunction Printer

Apeos C3567

(Model-CPS+1 Tray with Cabinet)

(for Europe)

Apeos. Apeos 0. ApeosPro. ApeosPort . $&U ApeosPrint (&, ELIAIVAES KRS IR RS OEREIRE(SEZETY,

BEEH(
Hm1BHrEY

BEN R
WAL O B4
ORMEAZE QEE @B @FER - HRr
®FZE- VY1)

HEOBKX, TELK-#ET
LtE2Y
FEMLKR  N5-EEE EPHR)
ENRIZRE : £/70 35ppm (A4 LEF)

: Apeos C3567(Model-CPS+1 Tray with Cabinet)

15— 35ppm (A4 LEF)
BAATTIX 1 A3, 11x17"
FUYR/AC—/AFvY
M EEI R EE/ADF(RfE B BN A M)

RLWEHEE
EaEmAXAREHFSV6THIE
https://www.fujifilm.com/fb/

BHRES JR-AI-25459E
EAPCRES  PA-590000-Al-08
PCR% B A H S35
NI 20266818
RILE1EHE 2026538108
REEA YATLFREEA R
REES 2025-FB-EL-103
IRIEEEAR 2031E3A9H

PCRLE1-DENE
REAZ 2023 98 1H
ZER M5 B
(FTE — M3 EEAY AT T IR EHEER
E=HWREAE 1B ET
NERIREES

ISO140251CHE ST A E J R UT -5 DIRIL LIAREE

Or#EB WA
*YATLRIEBI-FEANORIOB AR, YATLRAETLBEAD
BRIEF .

SEXTAMIWALESKRRA ) R—> 3 VA EH

F5ES © JR-AI-25459E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SUMPORIESANITOIT A

SuMPO
EPD SN B —BHEE A AT PR
of .0 S4TNBIBEE (EPD) ERATAERAME-14-8
Yk REELED KANDA SQUARE GATE
BipES JR-AI-25459E https://ecoleaf-label.jp
1TV VIV EFMmER
SIEZEE - &5 kg-CO2eq 5.02E+02 2.42E+01 8.65E+01 1.67E+02 9.75E+01
AV BHIE kg-CFC-11eq 3.56E-05 3.89E-08 2.91E-08 4.70E-06 1.26E-08
EREL kg-PO43-eq 1.54E-02 6.21E-04 2.17E-04 6.81E-03 1.23E-04
72| d kg-SOzeq 1.51E+00 1.64E-01 6.31E-02 6.60E-01 1.01E-01
HALEAFII I kg-CzHieq 9.03E-03 2.19E-05 4.19E-04 1.44E-03 8.77E-04
FEME RS - 4 kg-Sbeq 6.44E-01 9.10E-05 1.55E-05 7.03E-02 1.75E-05

S1THLIIWAIRY Y 3 IREIEE R
—REROERCET31E1R

FRERE | WERE | AR Efg';fﬁ s
BEAHE—RER - IRF—- (RPRy M) 1.18E+03 2.09E+02 1.12E+01 7.00E+02 3.94E+01
BAETE—RERE - IRVE-2EHE (RPRy) MJ 2.09E+01 3.46E-03 2.92E+02 6.71E+02 8.55E-03
FEFETEE—RER - ITRILF¥- (NRPRY) MJ 8.57E+03 8.45E+02 9.97E+02 3.62E+03 5.33E+02
FEBEATE—RER - IRLE-2HBME (NRPRy) MJ 1.28E+03 2.64E-01 2.86E+00 3.27E+02 7.98E-02
RKKDHEEE m? 4.14E+00 1.76E-02 3.07E+01 7.09E+01 7.50E-03
HEBRICEAT2EMIER
A-OvN\EEEFEELTEELELE,
EAMEPHR)DEEYFUATEELTVET,
-BROREFERBBESERTT,
-(E - MBS (LB RENRIBROBTEIEENE A,
ERBOEN . IRVF-25-T0TF LVer3 28 (SR> TCHE LETECIEZ TICEELELE,
- EENRIMELE. 182,400 T,
1/4x 32 (J37/B) x 19 () x 5 (B) x4 (B) x 12 (7 A) x 5 (£) = 182,4004%
Z Db DIRIEFDEEIR
IXNF-25-T0Y5LVer3.2 HE,
MRS LOYECE S 28RS EEYMECETZIER
-8 (ERIBS) Bifyy b= CAS No. ENE
I 5E 5 45 kg - - _
SuUS 0.20 kg - - -
TIVIZUA 14 kg
Z0thERE 5.6 kg ERALEZRT-IDEZXS
T3AFvY 31 kg REAIE, LCIT-5N-2RIDEA Ver3.4, SUMPOREININTOIS L& FT -5
BN 0.46 kg Ver.1.16& AL TWET,
AR 19 kg
R [ AR 12 kg -
it 40 kg
Z0ft 24 kg

@T-YEEDHEL. PCRELUVEE - ESHEESBL TR,
OLLEIIDVTE. BEE - EERBICRESNREEHB LSS LLARDONEEA,
(BEBSURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

